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a E j it's not isomorphic to 22

NII Nsup D Ip is not a subgroup of sua

or NsaD
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G set X O Ct Sx

la effective e d injective i.e peg 1 iff 8 1

tf 1 Ix Sit gx xztX tf 1 dig is a nontrivial
permutation

08171

I fi are ineffective v JE G

gift fi X X UXEX
ffix Gx X

Gif 88 v8 EG

trivial to show fit is a group
H l fi fix x txEX's a G

define the action GH XX X
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PI X a finite G set

G action transitive one orbit X

Burnside's lemma 161 21 81
LEG

If all f's havefixed points IetXfl Ja 1 161
equality holds if tf 1 81 1

But IXel IX1 1

1 81 for some g
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Lemma A abelian

Ffp prime I get of order p

Proof IGI pm

the Lemma holds for mil since if ftp

G is cyclic as a result of Lagrange thrower

then any element fee has order p f'd

Now suppose for a general mst the G Sit h has order t

i e ht I

if Plt then http is of order p

else Cho is a normal subgroup C G is abelian

Ich is an abeliangroup of order

1 at PMA C Ch I t

then Mlt is an integer smaller than m

by induction Gah has an element

of order p

homomorphism e G ath a surjection

g is gets



if sch has order P Then

p get 8th Aqa
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JP h Echo

if h 1 fP 1

else zy.e.t.CH 1 gPL 1 g 1


